<node>
<deviceClass>
<basicDeviceClass>ROUTING_SLAVE</basicDeviceClass>
<genericDeviceClass>BINARY_SWITCH</genericDeviceClass>
<specificDeviceClass>POWER_SWITCH_BINARY</specificDeviceClass>
</deviceClass>
<homeld>0xc337cdal</homeld>
<nodeld>5</nodeld>
<version>4</version>
<manufacturer>0x63</manufacturer>
<deviceld>0x3533</deviceld>
<deviceType>0x5257</deviceType>
<listening>true</listening>
<frequentlyListening>false</frequentlyListening>
<routing>true</routing>
<security>false</security>
<beaming>true</beaming>
<maxBaudRate>40000</maxBaudRate>
<nodelnformationFrame>
<commandClass>SWITCH_BINARY</commandClass>
<commandClass>SWITCH_ALL</commandClass>
<commandClass>POWERLEVEL</commandClass>
<commandClass>CONFIGURATION</commandClass>
<commandClass>VERSION</commandClass>
<commandClass>MANUFACTURER_SPECIFIC</commandClass>
<commandClass>NODE_NAMING</commandClass>
</nodelnformationFrame>
<supportedCommandClasses>
<entry>
<commandClass>SWITCH_BINARY</commandClass>
<binarySwitchCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
<isGetSupported>true</isGetSupported>
</binarySwitchCommandClass>
</entry>
<entry>
<commandClass>NO_OPERATION</commandClass>
<noOperationCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
</noOperationCommandClass>
</entry>
<entry>
<commandClass>MANUFACTURER_SPECIFIC</commandClass>
<manufacturerSpecificCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
</manufacturerSpecificCommandClass>
</entry>
<entry>



<commandClass>SWITCH_ALL</commandClass>
<switchAllCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
<isGetSupported>true</isGetSupported>
<mode>SWITCH_ALL_INCLUDE_ON_OFF</mode>
</switchAllCommandClass>
</entry>
<entry>
<commandClass>POWERLEVEL</commandClass>
<powerLevelCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
<powerlLevel>0</powerlLevel>
<powerTimeout>0</powerTimeout>
</powerLevelCommandClass>
</entry>
<entry>
<commandClass>NODE_NAMING</commandClass>
<nodeNamingCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
<name></name>
<location></location>
</nodeNamingCommandClass>
</entry>
<entry>
<commandClass>CONFIGURATION</commandClass>
<configurationCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
<configParameters>
<entry>
<int>3</int>
<configurationParameter>
<index>3</index>
<size>1</size>
<value>0</value>
<readOnly>false</readOnly>
<writeOnly>false</writeOnly>
</configurationParameter>
</entry>
<entry>
<int>4</int>
<configurationParameter>
<index>4</index>
<size>1</size>
<value>0</value>
<readOnly>false</readOnly>
<writeOnly>false</writeOnly>



</configurationParameter>
</entry>
</configParameters>
</configurationCommandClass>
</entry>
<entry>
<commandClass>BASIC</commandClass>
<basicCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
<isGetSupported>true</isGetSupported>
</basicCommandClass>
</entry>
<entry>
<commandClass>VERSION</commandClass>
<versionCommandClass>
<version>1</version>
<instances>1</instances>
<versionSupported>1</versionSupported>
<libraryType>LIB_CONTROLLER_BRIDGE</libraryType>
<protocolVersion>2.97</protocolVersion>
<applicationVersion>3.20</applicationVersion>
</versionCommandClass>
</entry>
</supportedCommandClasses>
<securedCommandClasses/>
<nodeNeighbors>
<int>1</int>
<int>2</int>
<int>3</int>
<int>4</int>
<int>6</int>
</nodeNeighbors>
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